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B.A. 5th Semester (Honours) Examination, 2019-20

HISTORY

Course ID : 50411 Course Code : AH/HST/501/C-11

Course Title: History of Modern Europe (c. 1870 to c. 1991)

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Write any five questions: 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by Eastern Question?

¬Û”ı«±=¡˘œ˚˛ ¸˜¸…± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(b) What is the significance of ‘Bloody Sunday’ in the history of Russia?

ı˛±ø˙˚˛±ı˛ ˝◊øÓ¬˝±À¸ ëı˛Mê±Mê ı˛øıı±Àı˛ı˛í &èQ fl¬œ∑

(c) How would you relate the Sarajevo assassination to the outbreak of the First World War?

Œ¸ı˛±ÀÊÀˆ¬± ˝Ó¬…±fl¬±G¬Àfl¬ Ó≈¬ø˜ fl¬œˆ¬±Àı √õ∂Ô˜ øıù´˚≈X¬ ¸—‚È¬ÀÚı˛ ¸Àº ¸•Ûøfl¬«Ó¬ fl¬ı˛Àı∑

(d) Why was the ‘League of Nations’ formed?

Ê±øÓ¬¸—‚ Œfl¬Ú √õ∂øÓ¬øá¬Ó¬ ˝À˚˛øÂ˘∑

(e) Why was Lenin’s New Economic Policy sarcastically called the ‘New...Exploitation of

the Proletariat’?

Œ˘øÚÀÚı˛ ÚÓ≈¬Ú ’Ô«ÚœøÓ¬Àfl¬ Œfl¬Ú ı…º fl¬Àı˛ ë¸ı«˝±ı˛±Àı˛ ÚÓ≈¬Ú Œ˙±¯∏Ìí ı˘± ˝Ó¬∑

(f) What is the policy of Appeasement?

ŒÓ¬±¯∏Ì ÚœøÓ¬ fl¬œ∑

(g) Why was the civil war of Spain called the ‘stage rehearsal’ of the Second World War?

Œ¶ÛÚœ˚˛ ·‘̋ ≈̊X¬Àfl¬ Œfl¬Ú ëøZÓ¬œ˚˛ øıù´ ≈̊ÀX¬ı˛ ˜˝h¬±í ı˘± ˝˚˛∑

(h) What do you mean by the ‘Third World’?

Ó‘¬Ó¬œ˚˛ øıù´ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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2. Write any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What were the issues on which Kaiser William II deviated from Bismark’s foreign policy?

Œfl¬±Ú Œfl¬±Ú Œé¬ÀS fl¬±˝◊Ê±ı˛ øZÓ¬œ˚˛ Î¬◊˝◊ø˘˚˛±˜ øı¸˜±Àfl«¬ı˛ ¬Ûı˛ı˛±©ÜòÚœøÓ¬ ŒÔÀfl¬ ¸Àı˛ ¤À¸øÂÀ˘Ú∑

(b) What led to the formation of the Triple Entente in 1907?

1907 ‡Ëœ©Ü±Às øS-˙øMê ’±“Ó¬±Ó¬ ·Àh¬ ›Í¬±ı˛ fl¬±ı˛Ì fl¬œ∑

(c) Assess the role of the Bolsheviks in the October Revolution of 1917.

1917 ¸±À˘ ’À"±ıı˛ øıõ≠Àı ı˘À˙øˆ¬fl¬Àı˛ ˆ”¬ø˜fl¬± ˜”˘…±˚˛Ì fl¬Àı˛±/

(d) Under what circumstances was the Soviet German Non-Aggression Pact of 1939 signed?

Œfl¬±Ú Œ√õ∂é¬±¬ÛÀÈ¬ 1939 ¸±À˘ Œ¸±øˆ¬À˚˛Ó¬ Ê±˜«±Ú ’Ú±Sê˜Ú ‰≈¬øMê ¶§±é¬øı˛Ó¬ ˝À˚˛øÂ˘∑

(e) Was ‘cold war’ an ‘ideological conflict’ or a ‘power contest’?

Í¬±`¬± ˘h¬±˝◊ øfl¬ ë’±˙«·Ó¬ øıÀı˛±Òí ’Ôı± ë˙øMêı˛ √õ∂øÓ¬ZøeÓ¬±í øÂ˘∑

(f) Write down the reasons for the downfall of the Soviet Union (USSR).

Œ¸±øˆ¬À˚˛Ó¬ ˝◊Î¬◊øÚ˚˛ÀÚı˛ ¬ÛÓ¬ÀÚı˛ fl¬±ı˛Ì&ø˘ Œ˘À‡±/

3. Write any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Analyse the impact of the ‘Economic Depression’ (1929) on Europe.

˝◊Î¬◊Àı˛±À¬Ûı˛ ›¬Ûı˛ ’±øÔ«fl¬ ˜˝±˜j±ı˛ √(1929) õ∂ˆ¬±ı øıÀù≠¯∏Ì fl¬Àı˛±/

(b) Was the Second World War a ‘design’ or a ‘blunder’?

øZÓ¬œ˚˛ øıù´ ≈̊X¬ øfl¬ ¤fl¬øÈ¬ ë¬Ûøı˛fl¬äÚ±í Ú±øfl¬ ëw±øôL√ı˛í Ù¬˘ øÂ˘∑
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